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4. Evaluate /' (4), if

X

o
3+
3+ 5

J(x)=3+

| ' . C(x+D(x—2)(x-3)
5. Find f'(-1),if f(x)_(x_l)(x+2)(x+3)

(Hint : To solve this problem more rapidly, you’d better use the definition of the

derivative of a function.)
6. Find the value of £, if any, that would make the following function
continuous on the interval [— T, TT ]

sin(x)
2x

x#0

b

Jf(x) =5

k, x=0

\

1
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8. f(X)=x(x+D(x+2)(x+3)---(x+9)(x+10), & f'(0)

9-16 37 % 4 5 &

9. Find the limit of the following function if it exists. Otherwise, fill the

blank with “X”, if the limit does not exist.

lim xvx?—1+x>

X—>—0

n

dxl’l 2

10. Find if y=In(x+1)

11. Z=In(x*+»%); x=2, y=3, dx=0.02, dy=-0.03 » £dZ

;j"/ﬁxﬁé lu\ﬁ;t%’/:l‘\ , ,/E[é‘gl’]jihz —‘:;.LA\
12. f(x,p)=(Te"Y +4) e +y*+2) » & £.(2,~1)
1
13. Evaluate IO 1-x? dx

2
1 x“tanx
14. Evaluate _[ —dx

-1 8—cosx

15. Evaluate J. 25" cos O dO

16. Evaluate
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18.

19.

20.

21.

22.

Find the length of the curve y=L Ji-ldt | 1<x<16

e x|
Find o and P yvz=In(x+2z)

Find the directional derivative of the function at the given point in the

direction of the vector V. g(s,7) = S\/;, (2,4), v=2i—]j
Find the maximum rate of change of / at the given point and the direction
in which it occurs. f'(x, ) =sin(xy), (1,0)

Use Lagrange multipliers to find the extreme values of the function

subject to the given constraint. f(x,y,z) = X +y 4z, x+y+z=12

Calculate the double integral.

”xseczydA, R={(x,y)|0<x<2, OSyS%}
R



